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Solving S
\’ olving Sequence

6,011 >5->12>4—>9—>1—>8—>3—>2—> 7> C2,C
A knot diagranﬂ €10 G5 €4 €9 "Ci2 €8 €3 €1 C7

Ideals for irreducible component#ﬂ)f Xpar

=W a4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 81 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

LI¥=(u4+u+. ... —u—1)

(i) Arc colorings

—ub —3ut — 242 +1
u® + 4ub + 4yt
wl +5u8 + 8ub +3ut —u2 +1

—u'? — 600 — 1208 — 8ub — u? — 2u?

wlt — 7ut? — 18010 — 1908 — 6u8 — 2ut —4u? + 1

w' + 6ut? + 13010 + 1248 + 6u + 4ut + u?

u?® +12u? + - 4+ 4ud — 3u

—u® — 1B+ =3’ +u

ub2 429050 + ... —4u +1
—u%2 — 28080 ... — 8ut —u?

w17t - —TuP + 1
a7 = \ —¢38 — 18u30 + -+ - + 10u* + u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u™ + 4u™ + - .- + 16u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! uPt 3700 - Bu 1
C2,Ce uPt — 0w -1
c3,Cg uBt + w8 4 ... — 4534 — 61
C4 ubt —u®0 4. —1961u — 1237
c5, €10, C11 W -1
7 uBt —3uB0 - 19u -1
Co, C12 u®' + 13u®0 + - — 5071u — 283




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
gl Y+ 15y o =Ty — 1
C2,C6 Yo =37y 4 5y — 1
€3, 8 yt — 5350 + ... 4+ 186177y — 3721
¢ 81 80
4 y°or 4 23y 4 - - - — 35110083y — 1530169
€5, €10, C11 y* 4+ 75y -+ By — 1
¢ Y+ Ty 145y — 1
Co, C12 Y8t + 5980 + ... — 6263y — 80089




(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—=1C8S) Cusp shape
= 0.197771 4 1.1835701 0.84481 — 3.236721 0
= 0.197771 — 1.1835701 0.84481 + 3.236721 0
= 0.046171 4 1.2116601 —2.27651 + 1.939151 0
= 0.046171 — 1.2116607 —2.27651 — 1.939151 0
= —0.204035 + 1.1998901 2.50774 — 1.862431 0
= —0.204035 — 1.1998907 2.50774 + 1.862431 0

—0.688192 4 0.3704101

—0.29265 — 12.118207

5.45285 + 10.147001

—0.688192 — 0.3704107

—0.29265 + 12.118201

5.45285 — 10.147001

0.682734 + 0.3645691

1.77767 + 6.969941

8.59265 — 6.079511

0.682734 — 0.3645691

1.77767 — 6.969941

8.59265 + 6.079511

—0.667182 4 0.3768411

—3.10444 — 4.743531

1.89111 + 5.310751

—0.667182 — 0.3768411

—3.10444 + 4.743531

1.89111 — 5.310751

0.627167 + 0.4270791

—5.80126 + 5.754671

—0.15516 — 7.515361

0.627167 — 0.4270791

—5.80126 — 5.754671

—0.15516 + 7.515361

0.669087 + 0.3433771

2.54734 + 4.358981

9.79953 — 6.090051

0.669087 — 0.3433771

2.54734 — 4.358981

9.79953 + 6.090051

—0.220135 + 1.2287001

2.26970 — 4.559301

0

—0.220135 — 1.2287007

2.26970 + 4.559301

0

0.600027 + 0.4509191

—5.90992 — 1.734151

—0.700518 4 0.5468971

0.600027 — 0.4509191

—5.90992 + 1.734151

—0.700518 — 0.5468971

—0.518361 4+ 0.5417661

—0.99512 + 8.052381

3.71543 — 4.266481

—0.518361 — 0.5417661

—0.99512 — 8.052381

3.71543 + 4.266481

= 0.186058 + 1.2452401 —2.71415 + 2.877631 0
= 0.186058 — 1.2452401 —2.71415 — 2.877631 0
= 0.227678 4+ 1.2383501 0.40246 + 9.702061 0
= 0.227678 — 1.2383501 0.40246 — 9.702061 0
= —0.661462 + 0.3284971 1.155840 + 0.6582401 7.68128 4 0.744671

—0.661462 — 0.3284971

1.155840 — 0.6582401

7.68128 — 0.744671

0.504244 + 0.5332811

1.06272 — 2.969371

6.86213 + 0.091911

||| |22 || |2(g|e|e|r|g|g|g|g|g|”f|g|g|g|g|g|g|g |

0.504244 — 0.5332811

1.06272 + 2.969371

6.86213 — 0.091911




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —0.599806 + 0.4195701

—2.86954 — 1.937511

3.68977 + 3.765191

u = —0.599806 — 0.4195701

—2.86954 + 1.937511

3.68977 — 3.765191

u = —0.528049 + 0.5004161

—3.65675 + 0.774521

0.180179 + 1.0638011

u = —0.528049 — 0.5004161

—3.65675 — 0.774521

0.180179 — 1.0638011

u=0.445960 + 0.5143601

1.74475 — 0.566161

7.81141 — 0.324671

0.445960 — 0.5143601

1.74475 + 0.566161

7.81141 + 0.324671

0.090833 + 1.3218201

—3.48103 + 1.920131

0

u= 0.090833 — 1.3218201

—3.48103 — 1.920131

0

u= 0.664571 4 0.0324331

4.28824 + 6.440631

11.37631 — 5.734271

u= 0.664571 — 0.0324331

4.28824 — 6.440631

11.37631 + 5.734271

u = —0.660958 + 0.0175891

6.06487 — 1.331921

14.4027 + 0.67991

u = —0.660958 — 0.0175891

6.06487 4 1.331921

14.4027 — 0.67991

u = —0.394768 + 0.5180071

0.25427 — 4.316281

4.96258 + 5.886781

u = —0.394768 — 0.5180071

0.25427 4 4.316281

4.96258 — 5.886781

u = —0.042555 4 1.3653607 —6.77977 + 0.653281 0
u = —0.042555 — 1.3653601 —6.77977 — 0.653281 0
u = —0.110213 4 1.3751201 —5.52185 — 6.101951 0
u = —0.110213 — 1.3751201 —5.52185 + 6.101951 0

u= 0.601777

1.08479

8.90280

u = —0.541617 + 0.2285071

—0.25287 — 3.772831

7.91061 + 8.400431

u = —0.541617 — 0.2285071

—0.25287 + 3.772831

7.91061 — 8.400431

u = —0.19013 + 1.413451 —5.52475 — 6.363481 0
uw = —0.19013 — 1.413451 —5.52475 + 6.363481 0
w= 0.17372 + 1.43625] —4.34343 + 1.678941 0
u= 0.17372 — 1.43625] —4.34343 — 1.678941 0
u = —0.25166 + 1.432271 —4.49351 — 2.674971 0
u = —0.25166 — 1.432271 —4.49351 + 2.674971 0
u = 0.25453 + 1.438441 —3.17261 + 7.732001 0
u= 0.25453 — 1.438441 —3.17261 — 7.732001 0
u= 0.25853 + 1.448051 —4.04746 4 10.406701 0




Solutions to I} V—1(vol + /=1CS) Cusp shape
u = 0.25853 — 1.448051 —4.04746 — 10.406707 0
uw= 0.17326 + 1.460901 —5.28963 — 0.544661 0
u=0.17326 — 1.460907 —5.28963 + 0.544661 0
u = —0.25138 + 1.451031 —8.98223 — 8.102181 0
u = —0.25138 — 1.451031 —8.98223 + 8.102181 0
u = —0.22226 + 1.455991 —8.89843 — 4.956491 0
u = —0.22226 — 1.455991 —8.89843 + 4.956491 0
u = —0.18698 4 1.462181 —9.93180 — 1.824331 0
u = —0.18698 — 1.462181 —9.93180 + 1.824331 0
u = —0.26014 + 1.450961 —6.1479 — 15.57991 0
u = —0.26014 — 1.450961 —6.1479 + 15.57991 0
u = —0.17307 + 1.467421 —7.42202 + 5.587771 0
u = —0.17307 — 1.467421 —7.42202 — 5.587771 0
u=0.22921 + 1.462521 —11.8872 4 8.88701 0
uw= 0.22921 — 1.462521 —11.8872 — 8.88701 0
U 0.21649 + 1.464731 —12.07490 + 1.250157 0
u= 0.21649 — 1.464731 —12.07490 — 1.250157 0

u= 0.469947 + 0.0719201

0.851920 + 0.0717721

12.35395 — 1.187981

u= 0.469947 — 0.0719201

0.851920 — 0.0717721

12.35395 + 1.187981

u = —0.145910 + 0.4092351

—1.47601 + 1.331701

0.709363 — 0.7720301

u = —0.145910 — 0.4092351

—1.47601 — 1.331701

0.709363 + 0.7720307




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 ¥+ 370+ Bu+ 1
C2, Co Wl — B0 -1
c3,Cs uSt + w0 4 — 453u — 61
C4 ubt — ¥ 4 —1961u — 1237
Cs5, C10, C11 w4+ a0+ —u—1
7 uPt = 3uB0 - 19u -1
Cy, C12 uB + 130 4 - —5071u — 283




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
‘1 Y150 4 Ty — 1
c2, Cg g =37y 4+ By —1
¢s, Cs y¥ — 5350 ... 1186177y — 3721
€4 y®1 235 + ... — 35110083y — 1530169
€5, €10, C11 y*t + 75y o+ By — 1
cr gL+ Ty 4 145y — 1
C, C12 y® 4+ 59580 + .. — 6263y — 80089




